1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22

23

24

25

26

27

28

29

30

BILL NO. S-16-08-19

SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONSTRUCTION CONTRACT - PEDESTRIAN SAFETY SIDEWALK IMPROVEMENTS FOR CLINTON STREET - \$349,478.50 between MALOTT CONTRACTING and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT PEDESTRIAN SAFETY SIDEWALK IMPROVEMENTS FOR CLINTON
STREET by and between MALOTT CONTRACTING and the City of Fort
Wayne, Indiana, in connection with the Board of Public Works, is hereby
ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for project includes the widening of the sidewalk on the west side of Clinton Street from Superior Street to the north edge of the Plaza Parking Garage including upgrades to the corner curb ramps. This sidewalk will be shifted to the west away from Clinton Street and behind the railroad elevation support pier. A new retaining wall and railing will be required to address changes to the grade. LED Pedestrian scale lighting will be installed to provide greater visibility. Drainage improvements will also be included:

involving a total cost of THREE HUNDRED FORTY-NINE THOUSAND FOUR HUNDRED SEVENTY-EIGHTS AND 00/100 DOLLARS - (\$349,478.50). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

1	SECTION 2. That this Ordinance shall be in full force and effec
2	from and after its passage and any and all necessary approval by the Mayor.
3	
4	
5	
6	Council Member
7	
8	APPROVED AS TO FORM AND LEGALITY
9	
10	O III II O'A AHomoni
11	Carol Helton, City Attorney
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24°	
25	
26	

Award: Resolution # 0115N

r 	2016 El	levate Fort Wayne for	r Clinto deWalt	on Street < Improvement *
	To:	Malott Contracting		
		in the amount of \$349,478.50		
			CITY OF FO	RT WAYNE
			DATE:	8/17/2016
		•	Robert Ken	nedy, Chair
			Nu	ke Civila
			Mike Avila	Wember
	ATTEST: L	yndsey). Richards	Kumar Mei	non, Member

						1					
		Form 96 Non-Cotusion Aff	idanit			х 20031	bld column				
		Cert in Lieu/Finan Bidder's Bond				x x]	
		Street Barricade I. EBE Declaration F	arm	_		×					
		IndEana Legal Emp Addendum No. 1 Addendum No. 2	oloyment Declara:	Sion		×					
		Addendern No. 3 Addendern No. 4	¥			×		i			
		Addendum No. 5	x	TOTAL:	5299,532.00	TOTAL:	\$349,478.60	TOTAL:	\$458,237,00	TOTAL:	\$544,645.81
						% over % under		% over % under	52.98% 0.00%	% over % under	81.83%
#REF!	abulation 2015 Elevate Fort Wayne for Clinton Street	1	#REFI	01159		1					
Bid Date:	08/16/016		\Y.O. NO.:	O115N Himala		BIDDER:	Malott	BIDDER:	Brooks	BIDDER:	Primco
NO.	ITEM	PLAN QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (S)	UNIT COST (S)	AMOUNT (S)	UNIT COST (S)	AMOUNT (\$)	UNIT COST (S)	AMOUNT (5)
	REMOVAL OF EXISTING CONCRETE CURBFACE SIDEWALK, SIDEWALK, CURB RAMP AND INTREGRAL										
1	CURB AND BASE COMPLETELY (INCLUDES SAW CUT)	202	SYD	\$12.0	52,424.00	\$18.0	0 53,636,00	\$20,0X	\$4,049.00	\$45,0	\$9,090.00
2	REMOVAL OF EXISTING CONCRETE CURB AND BASE TO SOIL (INCLUDES SAY CUT)	120	LF	\$12.0	\$1,440.00	\$18,00	\$2,160.00	\$10.00	\$1,200.00	\$25.00	\$3,000.00
	REMOVAL OF EXISTING PAVEMENT AND BASE TO ALLOW FOR NEW CONSTRUCTION (INCLUDES SAW OUT 18"										
3	PARALLEL TO FACE OF EXISTING CURB SEE DETAIL #1, SHEET L5.0)	40	SYD	\$12.0	\$480.00	\$15.00	\$600.00	\$20.00	\$800.00	570.00	52,800.00
4	REMOVAL OF EXISTING ASPHALT PAVEMENT AND BASE TO SOIL (INCLUDES SAW CUT)	98	SYD	512.0		\$10.00		\$20.00	\$1,960.00	\$35.0X	
	REMOVAL OF EXISTING CONCRETE PAVEMENT AND BASE TO SOIL (INCLUDES COMERCIAL DRIVE APPROACH										
	AND SAW CUT)	416	SYD	\$15.0	\$6,240.00	\$18.00	\$7,488.00	\$20.00	\$8,320.00	\$40.00	\$16,640.00
6	REMOVAL OF EXISTING CONCRETE ISLAND AND BASE TO SOIL (INCLUDES SAW CUT)	42	SYD	\$15.0	\$630.00	\$20.00	\$840,00	\$20.00	\$840.00	\$40.00	00.088,12
	REMOVAL OF EXISTING CONCRETE WALL, FOUNDATION AND BASE, (ENSURE EXISTING CONCRETE RAILROAD		1	1							
	SUPPORT PIERS ARE NOT DAMAGED BY ANY CONSTRUCTION WORK, THE EXTENT OF REMOVAL OF					[
7	THE EXISTING WALL WILL NOT UNDERMINE THE RAILROAD SUPPORT PIERS)	37	LF	\$180.0	\$6,660.00	\$110.00	\$4,970.00	\$45.00	S1,665.00	\$200.00	\$7,400.00
1 1	REMOVAL OF EXISTING ORNAMENTAL FENCE	49	LF	\$8,0X		\$17.00		\$5.00	\$245.00	\$15.00	
و	REMOVAL OF EXISTING TREE & STUMP AND GRUB 12* BELOW PROPOSED GRADE	2	EA	\$600.00	\$1,600.00	\$2,000.00	\$4,000.00	\$750.00	\$1,500.00	\$670.00	\$1,340,00
	COMMON EXCAVATION	1	LS	\$3,500.00	1	\$8,500.00	1	\$59,950.50	\$59,950.50	\$41,173.20	\$41,173.20
1 1	6"x6" CONCRETE CURB (SEE DETAIL #4, SHEEY L5,0)	100	LF.	\$25.00	1	\$15.00	1	\$25.00	\$2,500.00	\$26.20	
	CURB RAMP TYPE "A" (SEE DETAIL #9, SHEET L6.0)	16	SYD	\$85.00	\$1,360.00	\$95.00	\$1,520.00	5200.00	\$3,200.00	\$181.67	\$2,906,72
13	CONCRETE CURB @ SIDEWALK (SEE DETAIL #2, SHEET LS.0)	38	LF.	\$30.00	51,140.00	\$15.00	\$570.00	\$45.00	\$1,710.00	\$35.00	\$1,330,00
14	CURB FACE / BRICK PAVER / SIDEWALK (SEE DETAIL #6, SHEET L5.0)	250	SYD	585.00	\$21,250.00	\$144.00	\$36,000.00	\$115.00	\$26,750.00	\$210.00	\$52,500.00
15	CURBFACE SIDEWALK, INCLUDES SAW CUT (SEE DETAIL #5, SHEET L5,0)	120	SYD	\$55.00	\$5,600.00	\$75.00	\$9,000.00	580.00	\$9,600.00	\$175.00	\$21,000.60
	PRECAST CONCRETE BOLLARD (SEE DETAIL #7, SHEET L5.0)	12	EA	\$600.00	57,200.00	\$1,000.00		\$1,250.00		\$1,585.00	
	EXPANSION JOINT PREMOLDED ASPHALTIC FIBER		. EA	3000.00	\$1,200.00	31,000.00	\$12,000,00	\$1,230.00	\$15,000.00	31,009,00	\$20,220.00
17	EXPANSION JOINT (INCLUDES REBAR SEE DETAIL #3, SHEET L5.0)	200	LF	\$7.00	\$1,400.00	\$5.00	\$1,000.00	\$3.00	\$500.00	\$15.50	\$3,100.00
	CONCRETE RETAINING WALL, WITH 4" ABS DRAIN PIPE, LETTERS AND RAILING (COMPLETE IN PLACE SEE DETAIL										
1 1	88, SHEET LE.O AND A1.0) (INCLUDES EXCAVATION AND PIPE CONNECTION	1	LS	\$96,500.00	296,500,000	\$86,000.00	00.000,882	\$100,000.00	\$100,000.00	\$188,110.26	\$188,110.26
l i	PAVEMENT RESTORATION (SEE DETAIL #1, SHEET L5.0)	42	SYD	\$110.00	\$4,620.00	\$160.00	\$7,660.00	\$140.00	\$5,880.00	5131.72	\$5,532.24
f h	BITUMINOUS MIXTURE FOR PATCHING (ASPHALT	13	SYD								
1 1	PAVEMENT BEHIND WALL, MATCH EXISTING DEPTH) ADJUST CASTING TO GRADE (EXISTING STORM			\$110.00	\$1,430.00	\$150.00	1	\$100.00	\$1,300.00	\$155.00	\$2,015.00
	STRUCTURE TO REMAIN) Z'X2' CURB AND GUTTER CASTING, FURNISH AND	3	EA	\$250.00	\$750,00	\$250.00	\$750.00	\$1,000.00	\$3,000.00	\$670.24	\$2,010.72
	ADJUST TO GRADE 24° SOLID STORM CASTING, FURNISH AND ADJUST TO	1	EA	\$450.00	\$450,00	\$950.00	\$950.00	\$425.00	\$425.00	\$1,120.00	\$1,120.00
	\$RADE	1	EA	\$450.00	\$150,00	\$615.00	\$816.00	\$350.00	\$350.00	\$995.00	5995.00
[]	STEEL PIPE BOLLARO (INCLUDES CONCRETE BASE)	2	EA	\$400.00	\$800,000	\$250.00	\$500.00	\$800.00	\$1,600.00	51,440.48	\$2,880.96
I I	24" BEEHIVE CASTING, FURNISH AND ADJUST TO GRADE TYPE "O" COMPACTED AGGREGATE FOR BASE No.53	100	EA TON	\$450.00 \$30.00	\$450.00 \$3,000.00	\$850.00 \$28.00	\$850.00 \$2,800.00	\$350.00 \$50.00	\$350.00 \$5,000.00	\$995.00 \$80.00	\$995.00 \$8,000.00
	OP SOIL	66	TON	\$30.00	\$1,980.00	\$32.00	\$2,112.00	\$60.00	\$3,960.00	\$60.00	53,960.00
	HYDROSEEDING WITH HYDROSTIK or EQUIVALENT POLYMER FOR EROSION AND SEDIMENT CONTROL	725	SYD	\$3,00	\$2,175.00	\$4.82	\$3,494.50	\$2.50	\$1,812.50	\$2.50	S1,812.50
	SEDIGUARD INLET PROTECTION DEVICE OR APPROVED CONTROL										
		7	EA	\$50.00	\$350.00	\$75.00	\$525.00	\$201.00	\$1,407.00	\$277.00	\$1,939.00
	CONSTRUCTION SIGN, TYPE "A" (W20-1, W20-5, G20-2) URROW BOARD (FOR LENGTH OF PROJECT)	7	EA EA	\$75.00	\$525.00	\$275.00	\$1,925.00	\$181.00	\$1,267.00	\$100.00	5700.00
1 1	COSTRUCTION ENGINEERING	1	LS	\$1,200.00	\$1,200.00 \$2,000.00	\$3,500.00 \$6,750.00	\$3,500.00	\$2,650.00 \$10,000.00	\$2,650.00 \$10,000.00	\$1,660.00 \$5,750.00	\$1,660.00 \$5,750.00
	MAINTENANCE OF TRAFFIC	1	LS	\$12,000.00	\$12,000.00 \$12,000.00	\$15,900.00	\$6,750.00 \$15,900.00	\$20,480.00	\$20,480.00	\$5,750.00 \$7,936.24	\$7,986.24
	MOSILIZATION / DEMOSILIZATION	1	LS	\$8,000.00	\$8,000.00	\$17,400.00	\$17,400.00	\$22,500.00	\$22,500.00	\$27,232.29	\$27,232.29
35	WORK ALLOWANCE	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	540,000.00	540,000.00	\$40,000.00	\$40,000.00
36	EXISTING CONCRETE POLE BASE , REMOVE COMPLETELY AND BACKFILL	4	EΑ	5800.00	53,200.00	\$960.00	\$3,840,00	\$700.00	\$2,800.00	\$800.00	\$3,200,00
	XISTING LUMINAIRE, REMOVE	10	EΑ	\$200.00	\$2,000.00	\$350,00	\$3,600.00	\$100.00	\$1,000,00	\$300.00	\$3,000.00
38 C	UMINARE, STERNBERG G743, IN PLACE, PROVIDED BY	6	EA	\$1,750.00	\$10,500.60	\$360.00	52,160.00	§1,000.00	\$6,000.00	\$300.00	\$1,800.00
	UMINAIRE, 136W LED ATB2 40BLEDE10 MVOLT R3 4K NL CSS, PROVIDED BY CITY	4	EA	\$700.00	\$2,800,00	\$360.00	\$1,440.00	\$1,000.00	\$4,000.00	\$300.00	\$1,200.00
	OLE, STERMBERG FTW STD, IN PLACE, PROVIDED BY	6	EA	\$1,750.00	\$10,500.00	\$420,00	\$2,520,00	\$2,000.00	\$12,000.00	\$350.00	\$2,100.00
	ONCRETE BASE, REINFORCED, 24" X 60"	6	EA	\$1,000.00	\$6,000.00	\$1,050.00	\$5,300.00	\$2,000.00	\$12,000.00	\$875.00	\$5,250.00
42 3	C/6 THWN IN EXISTING CONDUIT OR BORE TUBE	90	LF	\$7.00	\$630.00	\$12.00	\$1,080.00	\$20.00	\$1,500.00	\$10.00	5900.00
L	UMINARE, KURTZON WALLPACK, #12 WIRE, SEAL TIGHT VHIPS, MISC JBOXES	4	EA	\$1,000.00	\$4,000.00	\$840.00	\$3,360.00	\$3,000.00	\$12,000.00	\$700.00	\$2,600.00
	5° HDPE BORE THEE AND 3C/6 TH/AN, IN PLACE	200	LF	\$11.00	\$2,200.00	\$18,00	\$3,500.00	\$20.00	\$4,000.00	\$15.00	\$3,000.00
į,	PCCP PATCHING (10"), GN 2" COMPACTED #53 GGREGEATE	30	ŞYD	\$ 100,00	\$3,000.00	\$85.00	\$2,550.00	\$110.00	\$3,300.00	\$170.00	\$5,100.00
	REMOVAL OF EXISTING CASTING	1	EA	\$30.00	\$30.00	\$2,800.00	\$2,800.00	\$100.00	\$100.00	\$1,340.48	\$1,340.48
4	IS' CATCH BASIN INSTALLED (INCLUDES EXCAVATION NO PIPE CONNECTION)	1	EA	\$3,500.00	\$3,500.00	\$6,800.00	\$6,800,00	\$2,000.00	\$2,000.00	\$1,910.72	\$1,910.72
F	ILL EXISTING 12" RCP PIPE AND STRUCTRE WITH LOWABLE FILL	1	EA								
	RUNE AND FERTILIZE TREE	,	EA EA	\$1,200.00 \$85.00	\$1,200.00 \$85.00	\$2,600,00 \$350.00	\$2,600.00 \$350,00	\$1,200.00 \$450.60	\$1,200.00 \$450.00	\$2,140.48 \$450.00	\$2,140.48 \$450.00
50.6	"Y" TO CONNECT EXISTING UNDERDRAIN	1	EA	\$40.00	\$40.00	\$450,00	\$450.00	\$100.00	\$100,00	\$450.00 \$340.00	\$340,00
6	PERFERATED UNDERDRAIN TILE (INCLUDES ONNECTING TO EXISTING PIPE)	20	Le Le	\$16.00	\$300.00	\$25.00	\$500.00	\$65.00	\$1,300.00	\$35.00	\$700.00
	arking Stop Blocks, Furnish and Set	5	EΑ	\$175.00	\$875.00	\$450.00	\$2,250.00	\$65.00	\$325.00	\$ 150.00	\$750.00
	RECTRICAL SERVICE PER DETAILS ON PLAN SHEET 1.0 & E2.0 (Includes all froms peeded for service)	,	Ls	\$6,000.00	\$6,000.00	\$16,800.00	\$16,800.00	630,000.00	\$30,000.00	\$15,000.00	515,000.00
- SIE		- 1	La)	30,000,00	90,000.00	9,0,000.00	310,000,001	550,000,000	330,000.00]	310,W/UU	310,000.00

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL

Pedestrian Safety Sidewalk Improvements for Clinton Street

Action Requested:

Requesting an ordinance approving the Pedestrian Safety Sidewalk Improvements for Clinton Street Resolution #0115N between Malott Contracting and the City of Fort Wayne in the amount of \$349,478.50 in connection with Fort Wayne Public Works.

Note: Malott Contracting was the lowest most responsive bidder among 3 bidders.

Description and Scope of Work:

To alleviate congestion and make it safer for pedestrians walking along Clinton between the Plaza Parking Garage and Headwaters Park.

The project includes the widening of the sidewalk on the west side of Clinton Street from Superior Street to the north edge of the Plaza Parking Garage including upgrades to the corner curb ramps. This sidewalk will be shifted to the west away from Clinton Street and behind the railroad elevation support pier. A new retaining wall and railing will be required to address changes to the grade. LED Pedestrian scale lighting will be installed to provide greater visibility. Drainage improvements will also be included.

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the **Pedestrian Safety Sidewalk Improvements for Clinton Street** award.

RFPs & BIDS	
Bid/RFP#	0115N
Awarded To	Malott Contracting
Amount	\$349,478.00
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	4
Number of Bidders	3
Attachments	AWARD APPROVAL AND BID TAB ANALYSIS SHEET
EXTENSIONS	
Date Last Bid Out	N/A
# Extensions Granted	N/A
To Date	AV2A
SPECIAL PROCUREM Contract #/ID (State, Federal, PiggybackAuthority) Sole Source/	ENT N/A
	y Indiana requirements into consideration.)
Most Responsible, Responsive Lowest	X Yes \square No If no, explain below

N/A

If not lowest, explain

COUNCIL DIGEST SHEET

Increase/decrease amount	N/A
from prior years	
For annual purchase	
(if available).	
DESCRIPTION OF PR	OJECT / NEED
Identify need for project &	
describe project; attach	
supporting documents as	
necessary.	
REQUEST FOR PRIOD Provide justification if prior approval is being requested.	
prior approval is being	
Provide justification if prior approval is being requested.	
Provide justification if prior approval is being requested.	
Provide justification if prior approval is being requested.	N/A
Provide justification if prior approval is being requested.	N/A
Provide justification if prior approval is being requested. FUNDING SOURCE	N/A